OREDHIER

Sy = H . 25 3 5 [y pil i H
HHA R RSB AEEA E%ME | ®Y | 7FyE | sA7m | emem | 728 | sAim | 9AsH | wAsE | (AR | 12ASA | 1A7H | 2A108 | 3AH
1S BEAF BEAN IR 1B RBAVAY KD — wt% 12.9 - - 15.7 9.7 12.8 14.2 20.5 - 1.2 1.9 10.9
RETHEBOEE - wt% 223 - - 16.3 31.9 29.6 344 229 - 32.0 32.0 274
Lo RE 10 wi% 1.6 - - 2.8 28 2.1 25 2.9 - 2.0 2.1 25
BHiinfhE= (RIRN—X) — kg/m 1310 - - 1410 1260 1360 1350 1370 - 1390 1310 1350
MAREE FBE~N—X) — kg/m 1260 - - 1360 1220 1310 1210 1250 - 1310 1300 1290
25 BEAIRBEENIR 25 REIAY | KD wtt 17.3 5.7 85 - - 138 137 22.5 1.5 - - -
IRBRBDEE wt% 25.2 25.9 252 - - 227 25.8 21.2 46.4 - - -
ALeGRE Rt wt% 16 1.6 2.5 - - 2.1 26 29 1.1 - - -
BHiighE s (RIRN—X) keg/m 1380 1420 1320 - - 1320 1320 1320 1410 - - -
HUAREE BE—X) kg/m 1240 1360 1300 - - 1270 1280 1230 1390 - - -
35 BEANRBERN R 3ERBIUAY [ KD wt% - 10.7 8.3 15.0 12.1 - - - 15.7 14.2 18.4 11.8
RETHEBOEE wt% - 231 24.2 15.7 446 - - - 37.2 271 30.3 275
Lo RE Rt wi% - 1.7 25 2.6 2.1 - - - 1.1 25 2.1 25
BHiiafhE= (RIRN—X) kg/m - 1390 1340 1380 1330 - - - 1380 1320 1420 1390
MBS FEFEN—X) kg/m - 1370 1280 1310 1280 - - - 1320 1270 1350 1310
REEEL, (RERYONERSERICET 552 OFEEETHD
b — s 4 P - W & H
R EE BRE - mARIGAT BlEEE HAE(E B e 5HaE SHIA T0R6E PR TA7E
IR (RLER) X1 CHERREO | KR {f U RE — — 12.3 121 12.0 12.2 124 123
ARSYLXEZDIEED 0.09 mg/L| 0.001Ki#| 0.0015K#%| 0.001%&#%| 0.001%K#| 0.001FKi#%| 0.001kKH
NE7OLIEED 15 mg/L| 005%kH| 005%kKi#| 005%K#| 0.055%K#| 0.05%Ki#| 0.055%K#
STUEEW — me/L| 0.05%ki&| 005%ki#| 005%k:#| 0.05%K:#| 005%Ki#&| 0.05%K#&
KEXEZDEED 0.005 mg/L | 0.00055 7| 0.00055k 5 | 0.00055K 5% | 0.00055K % | 0.00055k i | 0.00055k i
7ILXILKERIEE RSB mg/L| REET| BHEET| BHET| REELT| RELT| BHET
ELOXEZDIEED 0.3 mg/L|  001K5E| 001kKi| 001kKiE| 001K 001K 001K
AX[EZDEED 0.3 me/L|  001k&| 001k#&| 001kK#E| 001kK#E| 001kK#E| 001kK#F
MEXETZDEED 0.3 mg/L|  001kiE| 001K®| 001kK#E| 001Ki#E| 001KME| 001KA
I EEELEED — me/L e [NES 1AL - 0.1ki& 0.1k% 0.1ki&
14-CFXH 0.5 meg/L| 005K 005%KH| 005K 005KiH| 005KH| 0.05KF]

X1 IRIZER AL KEMAEESEHET 50D X
X HEERERRELEEERABRELLI—(T1=vIREUE—) ITEIT2RARETHD.




